


(ii1) from all loops and switches

(iv) from the innermost loop or switch.

(d) Choose the correct output for the following
code segment :

int main ( )
{ int i = 2
X = +H + +H;
printf ("%d", x);
h
(i) 4 (i) 6 (iii) 8 (iv) 7
(e) Choose the correct statement.

(i) - Pointers and integers are interchangeable.

(ii) A pointer and an integer may be added
or subtracted.

(111) There is no relationship between pointers
and arrays.

(iv) It is not possible to pass a part of an
array to a function.
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(f) Choose the correct statement.

(i) In the absence of explicit initialization,
external and static variables are guaranteed
to be intialized to zero.

(ii) It is possible to take the address of a
register variable.

(iii) The external staﬁc variables are globally
accessible. |

(iv) For automatic variable, the initializer is

restricted to being a constant.

(g) If there is any error in opening a file, the
fopen ( ) function returns ....... (Fill in the
blank)

2. Answer the following questions : 2x4=8

(a) What is bootstrapping ?

(b) Perform (25),, + (-17),, using 2's complement
representation.

(¢) What is meant by associativity ? What is the
i associativity of the arithmetic operators ?
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